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QUESTION: 187 
Which of the following is a Black Box test design technique? 

A. Decision Coverage 
B. Error Guessing 
C. Statement Coverage 
D. Equivalence Partitioning  

Answer: D 

QUESTION: 188 
A calculator software is used to calculate the result for 5+6. The user noticed that the 
result given is 6. This is an example of: 

A. Failure 
B. Mistake 
C. Fault 
D. Error 

Answer: A 

QUESTION: 189 
A live defect has been found where a code component fails to release memory after it 
has finished using it. Which of the following tools would have been the MOST effective 
at detecting this defect prior to live implementation? 

A. Dynamic analysis tool 
B. Monitoring tool 
C. Configuration management tool 
D. Coverage measurement tool  

Answer: A 



QUESTION: 190 
Which of the following is NOT a valid objective of testing? 
 
 
A. Preventing defects from being introduced into the code 
B. Investigating and fixing defects in the software under test 
C. Gaining confidence that the system is fit-for-purpose 
D. Providing information for stakeholders’ decision making  
 
 
Answer: D 
 
 
QUESTION: 191 
A Test Manager conducts risk assessment for a project One of the identified risks is: 
''The sub-contractor may fail to meet his commitment" If this risk materializes, it will 
lead to delay in completion of testing required for the current cycle. Which of the 
following sentences correctly describes the risk? 
 
 
A. It is a project risk since successful completion of the project depends on successful 
and timely completion of the tests 
B. It is a product risk since any risk associated with development timelines is a product 
risk 
C. It is a product risk since default on part of the sub-contractor may lead to delay in 
release of the product 
D. It is no longer a risk for the Test Manager since an independent party (the sub-
contractor) is now managing it  
 
 
Answer: D 
 
 
QUESTION: 192 
Which of the following is a white-box test technique? 
 
 
A. Decision table testing 
B. Exploratory testing 
C. Statement testing 
D. Error guessing  
 
 
Answer: C 



QUESTION: 193 
Which of the following is a defect that is more likely to be found by a static analysis tool 
than by other testing techniques? 
 
 
A. Omission of a major requirement 
B. Inadequate decision coverage 
C. Component memory leakage 
D. Variables that are not used improperly declared  
 
 
Answer: D 
 
 
QUESTION: 194 
Which of the following is by definition a reactive test approach? 
 
 
A. Risk-based testing 
B. Automation of regression tests 
C. Exploratory testing 
D. Requirements-based testing  
 
 
Answer: C 
 
 
QUESTION: 195 
Exhibit 



 
 
The decision table above reflects a golf club's pricing structure for green fees and 
buggy/cart hire. What is the expected result (actions) for each of the following two test 
cases (TC1 and TC2)? 
* TC 1 - Paul is not a full member, is a Loyalty Card holder and requests to play 18 
holes with a buggy/cart 
* TC 2 - Cheryl is not at full member, doesn't have a Loyalty Card and requests to play 9 
holes with a buggy/cart 
 
 
A. TC1 - £23 total charges including buggy hire; TC2 - £21 total charge including buggy 
hire 
B. TC1 - £18 total charges including buggy hire; TC2 - £16 total charge but no buggy 
allowed 
C. TC1 - £23 total charges including buggy hire; TC2 - £16 total charge but no buggy 
allowed 
D. TC1 - £17 total charges but no buggy allowed; TC2 - £21 total charge including 
buggy hire  
 
 
Answer: D 
 
 
 



QUESTION: 196 
A system requirement states that up to 100 users should be able to carry out a 
transaction, with responses returned within 5 seconds. What type of non-functional 
testing would you carry out to verify these requirements? 
 
 
A. Stress testing 
B. Maintenance testing 
C. Load testing 
D. Usability testing 
 
 
Answer: A 
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